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C/B
0. 936 IE BT 4
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124. 21

10,571

243

9,514,211

9,637, 994

0.912

1.013

113, 44

0,930

182,79

139. 04

12, 040, 486

10, 836, 437

1.1

7,194, 641

6,475, 177

11, 200, 453

0939

0.930

1. 034

6, 787, 313

0. 943

1. 043

125,06

0,915
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13160
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64 .59m?

12421

2x 4

BT R E e
(e TR R3] A M R EEREE R AL A 3 AR B
Rl RAmA AT [2x 4R LHe BTHS| B T |2 x40 EEERK BT |2x4MEsErRaG] B 7 2x4ME | ERE] OB OIT [2xail W 5
(a)/(4) | (%) ()% (B)  {{a} X (B} @xm |le)* ERE (X E w6 | j%
() () () [(3] ] i) () (e} (F) ()l (g}
Eamnm ERETE 8, 230 8,230 | 1.000 100 8,230 8 230 1.0781 3,872 8,872 | 64.59 573,012 | 573,092 | 1.000 6.0z] 595
B 0.000 0 o 1
0.000 0 0 |
E# |m=w v U—F A0 7,350 T, 350 | 1.000 100 7,350 7,350 1.0500 77T 7T 6459 496,441 | 498,441 [ 1.000 5.24 517
[ G | 0% )5 0.000 [ 0 |
2 7 ¥ B 7,340 520 0.7i7 100 7, 340 270 1.2100 9,401 6,807 | 124.21 | 1,167,698 836,676 | 0.733 1227 589
fal 3 i R 430 430 1000 100 430 430
0.000 0 0
0000 0 0
(<& #10.50m 5,750 0,000 e 5,750 | ] 1. 3000 7,475 | o122 928,469 | 1,159,958 | 1.249 9.76 12.04
- Bef ke 6,180 | 0.000 100 ol 6180 o 8084|1221
EE 1,930 | 0.000 100 of 1,030 0 2,500 [ 64,59
0. 000 of a !
[FuE O/ 0,000 0 0| ] 0.6500 [ of iz 374,012 374,012 | 1.000 303 388
i DY 6,196 196 | 1,000 100 6, 196 6,196 0. 4000 2478 | 2,478
i M Ak 94,600 | 94,600 | 1,000 U oe4.600 | 94,600 0.7000 | 66,220 | 65,220
0,000 0 o
0,000 0 0
G- F 6,510 0. 000 15 ss o 11000 [ 15,471 8,697 | 124.21 | 1,921,652 | 1,067,833 | 0.355 20.20 108
SRR o 18, 350 9,770 | 0,597 80| 13,080 7,818
B it EiFe L 0. 000 5 0 Q
0.000 0 o
| 0. 000 0 [
Epacieta 5,590 5,540 [ 1.000 95 5,263 5,263 1.0000 5, 769 5,769 | 124.21 716,567 716,567 | 1,000 7.53 7,43
TR F 2,420 2,920 [ 1000 5 146 146
EH BT 360 360 | 1000 100 360 40
0.000 0 o
0,000 0 o
0,000 0 o
—RkEERIR, 5,410 5,410 [ 1.000 100 5,410 5,410 10500 [ 14,021 [ 1,02 [ rxaoz] 168,018 | 1,388,918 | 1.000 14.39 14.20
e 5,430 5,430 [ 1000 Kl 20 271
WHCF & THEEH 3.550 3,550 [ 1.000 5 177 177
B G - WUEEGE 4,950 4,950 [ 1.000 85 4,207 4,407
G- T TG 1.450 1450 [ 1000 5 [t] 72
A 41 360 360 [ 1000 100 360 60
0.000 0 o
0,000 0 o i
TAIER 3 7,200 7200 [ 1000 100 7,280 7,290 0. 8500 €, 196 6,196 | 124.21 769,605 | 786,605 | 1.000 8.09 7.99
A 0,000 ] o |
0,000 |3 * ok & [ 0 1.0000 0 o] 100
Foh T |4 5, 160 5,160 | 1.000 [k d] 5160 5, 160 1.2500 6,450 6,450 § 124.21 Bdl, |54 801,154 | ). 000 842 53]
i &IEL (1001m) 4,090 4,080 | 1000 [F %% 4,000 4,080 0. 9500 3,883 3,885 | 124,20 1,451,787 | 1,451,787 | 1.000 15. 26 15. 08
==y boiR R 246,500 | 246,500 | 1,000 | sk #| 246,500 | 246,500 10000 | 246,500 | 246,500 | 1,00
ke sy 83,700 | 83,700 | 1.000 [# k% 63,700 | 83,700 Liooo|  ex070 | 92,070 100
WELE  UREE] 20cm 12,000 | 12,000 | 1000 [# %% #| 12,000 | 12,000 10000 | 12,000 | 12,000 2.00
WA k7R 6,200 6,200 | 1000 [# % %% 6,200 6,200 1.0000 6, 200 6,200 f 1.00
B RPRIER L 46,400 | 46,400 | 1.000 |# k%) 46,400 | 46,400 1.0000 | 46,400 | 46,400 | 1.00
B AT A 7 — 212,600 | 212,600 | 1000 |k E| 212,600 | 212,600 10000 | 212,600 | 212,600 | 100
%y Fra=yt 265,200 | 262,200 | 1.000 |k k #| 262,200 | 282,200 12100 | 343,462 | M1L462] 100
0,000 1% 4 & 0. 92 i 0
i ok oK ok ok kK Rk K R K er*xx'iggs_{'wixtz-xa:**-xx**exxix*»«x**m»ﬂx******** 1057 251 searsan] 0912 [ 30000 1 100,00
Brdb | % o o o ok ok ok ok ok 2| ok o oK | 7k ok o [ ok K |k e k] ok ok oK ok o % ok ok [k ok ok ok sk kR ok k| ok ki k| 9,514,211 | 9,637,004 | 1013 ] 100,00 | 100.00
(x0. 8] LI 100,00
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2% 4

Lt Sy R PRI AR
i Jat PO 31 55 TR TS0 i O g O 2 80 B
i) AR LT A MK MERE ERE B 2x 4% |k [2xam ] ¥
()% (B) |(a) % (B) J(C) * (D) (E % (F) (e) % (F) (g)/(6) )
©) I3 o) (E) (6} i)
5 7.190 5130 0713 100 7,190 5,130 1.0400 7,924 898, 598 655,910 | 0.729 9.45 6.81
o 430 430 1.000 100 430 430
0.000 0 o
KB # 10.5cn 5,750 0.000 100 5,750 ] 0.9700 5,577 of naas 632,651 805,514 | 1.273 6.65 5.36
FE - BRI [HeEOE 6,180 [ 0.000 100 0 180 0 5,604 | 113.44
i 1,930 | 0.000 100 9 1,030 0 1,872 6707
AEAN— K Hilil 6,570 0.000 15 985 o 0. 8500 8,174 2,862 | 113,44 927,258 324,865 | 0.350 9.75 3.37
SRCBIRIRE W 10,790 4,210 | 0.390 80 8,632 3,368
MEE ki L 0.000 5 o [
0.000 0 [
0.000 [ 0
7 ok K K oK K oK o o ok SR o K ok P sk e 3 |k ok ke o ok ok 3k Dk ok ok ok ok kK ok ok ok e ok ok ok K K ok K 1 07261 100007 100100
B s ok e ok ok ok ok ok ok ok ok ok ok Sk o3k o K KR oK KK [k R oK ok R K R R KR R R R K[k R R R R Rk Rk R K R K R KRR KK K 1,786,089 | 0.807 [ 10000 | 100.00
2 18.54
1-0.254 0.254x 0.726
12 2% 4
103.30m?
182.79m?
WR{E %7 0
E ® M AL 0| 5 5 4 45 B
fizes ) Fame 2% 4 s BRI 2x A MK MERYK AR BT | 2xamE [ kRS %
(a)/(A) {(%) (a) % (B (E} % (F} fe} X (F) (g)/ G}
(a) (c) () (F) () (g)
FENE A b R 5130 | 0.713 5,130 0.5800 | 24,112 | 20,090 | 182.79 | 4,407,432 | 3,672,251 | 0.833 46.32 38.10
MEE O STHRE A A 17,700 | 0.875 17,700
ik o o 430 | 1.000 0
KEE ¥ 10.5ca 0. 000 [ 1. 0400 5, 980 1,093,084 | 1,382,114 [ 1264 1.49 14.34
FE - AR R 6,180 [ 0.000 6, 180 0
i 1930 0.000 1,430 [
BEE—F il 6,570 0. 000 5 38 o 0.8500 8,991 1,643,464 621,303 [ 0.37 17.27 6.45
ELLL 10, 790 4.210 0.3%0 95| 10,250 3,999
HiE 0.000 0 o
0. 000 o 0
0. 000 9 0
(o s e e oo 90 oo o o 90 e | 5 o oo e e ok k[ ok ke k[ w e k] 7143 0890 | S Grogee| 0791 | 100,00 | 100.00
75.08 38,89

1-0.295

9

0.295x 0.794

0.295
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92.71m?
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2x 4

[WE B B
P U PR R | AR AT Ak RIF £ ¥
ko] Fema ® EREWEIHG B H ® WERN] B i L T ® ERE
(a) /40 |8 (A1 % (B) |(a) % (B) %M (e} ) EXE |@xE @6
a) 15) (©) te) ()] (B} te) (F) () Ag)
B T 1z0a0| 1000 100] 12,040 | 12,020 | 0.7400 5.909| 8.909] 82.71 825, 953 825,954 1.000 6,86 7.7
R E
4 [ = iR Bl Y 7.010 7010 1000 100 7.010 7010 0.6300 4416|  4.416) 9271 409, 407 409,407 | 1000 3.40 166
BO0X15cm i
PROZTH8ES 1A 20,210 17,700 0875 so| 10,105 8850 0.9000 13,716 11,659 | 139.04 [ 1,907,072 | 1,621,067 [ 0.850 15,84 14.47
T A b RS 4,670 0.693 50| 3,363 | 2,335
AR R 450 1.000 100 450 | 450
Bt e S 2,640 [ 1000 50 1320 1320
KE E 10.0m 5.210 0.000 100 5.2010 § 0 [ 10000 5.210 0 135.04 724,338 | 1,038,197 1.433 6.02 a.27
[FedER o 6,180 0.000 100 a 6,180 ] 6,180 | 139. 04
B (B4 1,930 100 a 1,930 a Lo30| $2.71
| TECEE 8,072 8,072 1.000 100 8,072 8,072 [ 0.4000 3.228 3,228 [ 135.04 448,821 448,821 | 1.000 3.73 4.01
i
ErRtRiRE P 16, 350 9,770 | 0.597 90| 4.TIS 8,793 [ 1.9000 15,476 9,233 139.04| 2,151,783 | 1,283,756 | 0.5% 17.87 1146
0 i 9,520 5,500 | 0.578 5 %1 440
i i Az L of 0.000 2 0 0
(21 0.000 o ]
G FEHIRER 5,540 55101 1.000 90 4,936 4,986 [ 1.0000 5,453 5.453 | 139,04 738, 185 758,185 | 1.000 6, 30 6,77
et 2,830 2,830 1.000 8 226 226
itz L L] o 0.000 2 0
PRI 260 360 | 1,000 67 241 241
i 0.000 0 0
2150 1000 85 1,297 1,397 10000 | 9434 9,434 | 139.04 | 1,310,703 | 1,311,703 1000 w8 1.7
5,410 1,000 3 1785 1,785 |
3,480 | 1.000 2 6 69 1
6,950 | 1,000 65 4,517 4,517 |
4,950 | 1000 19 840 940
F 2,460 | 1,000 8 196 196
3,550 | 1000 4 142 142 {
7740|1000 2 154 154 |
01 0,000 2 0 o |
360 | 1000 65 234 ] |
| 0,000 0 0 |
P IR 7.030 | 7,030 1000 100 7.030 7,030 | 1. 0000 7080 | 7,030 | 139.04 | 1,122,351 1.122,351| 1.000 9.32 10.02
TR ] 1 |
s b & 144,900 1 143,900 vtoool ven] sas.e000 y44e00] 1 ovool jase00l 1ass00] 100
ZOmTE |4 5,060 1000 |# ks 5 0e0| 5060 1 0000] 5 160 5,160 13904 TI7.446] 717,481 1 000 595 641
K GIFA (15000 3,690 | Looo[x#aal 3630] 3.6%0] Looto| 3,690 3,690 | 109,04 1,663,367 | 1,663,567 1.000 13.81 14.85
R ERA 140,700 | 1. 000 | & & & 140, To0 “ 140,700 | 1.0000 | 140,700 | 140,700 200 |
83,700 1000 |% %= 83,700 83,700 1.3000| 108,810 108,810 100 |
83,700 | 1.000 [% %% &| 83,700 | 83700 | 1.0000 83,700 83,700 100 |
246,500 | 1.000 |% % % ¥| 246,500 | 246,500 | 1.6000 | 394,400 | 394,400 1.00 i
282,200 1000 |% %%l 282,000 | 282,200 | Loooo| 282.000{ 282.200| 100
0,000 [ %  # 0 a 0 a
0,000 [ % % #| 0 0 0 0
RER 0,000 | * % | 0 o Ul o
| 0,000 | % % ¥ 0 0 0 0
|
Gl e s e e wmwm ek k kA ANk SR % s kSR AW m W ww |k w kW %k H K| % KR KR F R E|k ok ke [ k% %] 7 010,456 11,200,450 0.900| 100.00 | 100.00
10,836,437 11,200,463 1034 100.00  100.00
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56.31m?

97.71m?

] Emmmtﬁf.ﬁ
imagE i | ape 2 BB ERIES !ﬂamﬂgxm B
wEa%l FEMB E ES kR R OMERE A 7 O OprEi B E R d 3
fa} /(4 {a)  (B) (©) %@ |{e) =) (B) = (B [edx(F) i)/ (G} |i%) (%)
A 1a) () o)l ] {E) (o) () (6}, (a)
AL—F i @EE 12040 | 12040 1000 12.040 | 0. 9000 10836 | 10.836 | 56.31 €10,175 610,175 1.000 8.48 £.99
TR R W 84,460 | §4.460 | 1.000 a
0, 000 0 1]
T fiovey-L R (76 - L) 5,690 5,690 | 1.000 100 5,890 5,690 | 1. 2000 6,828 6,828 | 36.31 384, 484 384,484 | 1.000 5.34 5.66
li5 > 15cm 0,000 0 0
Tt A ME ORER 6, 730 4,670 | 0.603 100 6.730 1. 670 | 1. 0600 7.58% 5,406 971 41,521 528,220 | 0.712 10.31 7.78
pEAE 450 430 1000 100 430 430
HEE 0 o
0 0
I 0
KEE $23.02 10.5enfy 5,750 o] 0.000 100 5.750 0] 0.6300 3.622 o] 97.71 353.905 T12.525| 2.013 4.92 0.00
[Friage 6.180 | 0.000 100 0 6,180 | 10000 6,180 97.71
e ki 1,930 19 ¢ 1920 | L.000g L9 5631
o o
0 a
RS 6123 6,123 | 1000 100 6,123 6,123 | 0.4000 2,449 2.449 | 9T.71 239,201 239,291 | 1.000 3313 3.5%
0 [ o []
ik 0 o o 0
0 ] o []
0 o o )
AELEERE o 16, 350 9770 ©.597 €| 14093 §.421 | 0.9500 14,021 8,365 97.71| 1,369,991 BIT.344| 0.596 19.04 12.04
008 9,520 5.510| 0.578 7 665 385
fhbifa L o o o.w00 7 0 o
2 0
Q
[
0
0
2O AR 2,830 2.830] L.000 5 141 09000 4.6l4] 4614 9171 450,833 450,833 | 1.000 .27 6.64
SRBESE @ 5,540 5.540| 1.000 90 4,088
ki L [ af o000 5 [
0
i o
[
[
[
a
=7 99— kT 3,450  .490] 1.000 9 1.710 0. 9000 6.522| 6822 97.71 666,517 €66.517 | 1.000 9.26 9,82
Pkl 2,150 1.000 42 903
| —RirFdE R 5,410 1000 9 486
FTER 2,480 1.000 9 221
I 138 & 4.950 1.000 % L2
H iy 7 4 7.500 1.000 4 00
[Ty B THESR 3,550 1.000 7 248
HE LT 22 L o 0,000 5 o
L]
[
0
0
Tt e aliE W 7,260 7,290 1.000 e 7.280 0. 8400 6.123]  6.123] 971 598, 278 568.278 | 1.000 8.32 8.8l
BE 1] 1] o |
0000 |* * | [ 0 of 100 |
ZOWMTE b 5160 | 51600 1000 k% # 5160 1. 3000 €705 6,908 7.7l 5,438 655338 1000 911 966
aifs (66m) . 280 4,280 1000 [# % & 4, 260 1. 0000 4,280 4.280 | 97.7 LI24 148 | 1,124,148 1,000 15.62 16. 56
P (AR 140,704 | 140,700 | 1900 [% # % % 140, 7 LOKOO[  140.700 ] 140,700 | 10O
Rl (A RBAL) 48.400 46,400 | 1000 |F & & H 46,400 1. 0000 46, 400 48, 400 1.0
AR iR 246,500 | 246,500 1.000 | * * ¥ 246,500 | 246.500 | 1.3000 320,450 | 320,450 100
T—KTT 31000 | 3L000| 1000+ %+ ano00]| Si000| Loooo| 3L000f SL000| LOO
e LR 3,700 5.700 | 1.000 [# %% 63,700 | 83.700| 1.o000|  83,700| 83.700| 2.00
* & & [N} 1] 0 [
* & & ¥ 0 0 [ ]
RRITE * k¥ k| o a L] 0
* & & ¥ [ o 0f 0
4 % H [ o o o
* ¥ ¥ ¥ [ o L) 0
* & & k| a o ¢ o
* % H ol 0 [ 0
EEEES o o [} 0
* % & # 0 o o) 0
* & % | 0! [ 'k Q
Fod % % e %k ok e ok ko ok ok ok ok |k ok ol ok ko i ok ok kol o e o [k o k] ok ok ok e skl e ok o ok ok ok k| ok o ok i o ko e[ % % ¥ 6, 787.313 0.543 100. 00 100. 00

6.787.313  1L.048 100, 00 89,49
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7211
125.06m°

67 53 R PR R R 2
i a4 K o |GEAP L .o kS 1k
okl LA 2 4 MIE|MERE] BITHE |2 4 ARHINMY BiTE  |2x dBE | LEE T FE[THIEL
fal/(A) fah = (8) € < > @ (E) = (F) (e} x (F) (g /(6) i) %)
(A} (a)} (53] (o)) (3] (o)) (F) {a} (g
it R 6,730 4.670 | 0.893 4,670 | 0.98500 6,873 4.886 | 125.06 £89, 537 612,203 0.712
. ERRE 430 430 1,000 450
[
R £ 10. 5 5.750 0000 o] 0.8300 £72 0] 125.06 586, 786 756,880 | 1.268 18,24 0,67
o (R 6.180 | 0.000 6,180 o 5129 125,06
i 1,930 1,830 [ 1600 7211
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